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1(a) 15
1(b) 14
1(c) 14
2(a) 15
2(b) 15
3(a) 15
3(b) 5
Total: 93  (nice job!)
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Geoff: I was expecting a derivation of the equations to compute the optimal coefficients. After reviewing the wording of the problem, I realize this might not have been completely clear. Your work thus far was correct.
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I was also expecting the equation for the solution of the optimal value of the coefficients.
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What about the fact that the signal is an AR signal (all-pole) and the model is an MA model (all zeroes)?

Some considerations about this should have been addressed in either (a) or (b) since it affects convergence.

(a) Score: 15
(b) Score: 5



